THMTFE10RAS ERERGREHR

(SFITE11A1BHIRE)
A5 AR 1L SAT P R
1 AORUHELR E=)0eEr
X % G2 g-q B HHE
B A | - 16,030 + 15,284 - 31,314 - 11,952
5 A |7 16,023 3 15,287 4 31,310 5 11,957
2 EEIfF
#4 55 AB = %4 H31 AB BE
57
iz A 71 104 i HETEE 12 >
i 47 I
70 2
ir H 80 116 > T B 4 5 >
Z 46 £°4 3
26
i B 21 51 i HEE 6+ i
Z 25 £°4
11
BLH HUH i B /0 13 13 >
Z Z 2
BEAESCEL > B H >
Z i
1
miEan| 2 R B it >
£°q 1 i
3 FERBER
#H4 H5 AB BE %4 3 AB =
6
H & 17 17 > i
= 11 g
9
T 20 20 > >
= 11 g
4 MIBEHHK
X4 B 9 B HHEE —tHEH-UDAE
E=0 8,025 7,424 15,449 6,374 2.62
AR 3,726 3,674 7,400 2,520 MAOBLH
BRA 4272 4,189 8,461 3,063 2] 51.2%
&5t 16,023 15,287 31,310 11,957 = 48.8%




